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11. end
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5- goto 9
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7- 0 goto 11
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9- output(x);

10- goto 17
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- end;
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get priceofitem
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start
get hoursworked
get payerate
if hoursworked<=40 then
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else
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end if
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end
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int a,b ;

float «c¢,d ;

a = 10 ; b=4;
c=28.2 d=4.0;
b=a / b;
c=c¢ / d;
a=a / d;

c =a / 4;

}
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int main(){
char ch="a’;
int i=10;
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double d = 43.2;
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a = 9;
b=c¢c+ 2 % d;
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int a;

a = 2.5 % 5.0;
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#include<iostream>
using namespace std;
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int main () {

cout<<i;

return 0;
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cout<<”salam”’<<”bye”;
cout<<”salam”’<<endl<<”bye”;
cout<<”salam\n"<<”bye”;
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cout<<”sal\nam?”;
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#include<iostream>
using namespace std;
int main() {

int a;
cout << "please enter a number:”;
cin >> a;
return 0;
A3 o B a ke HO WS oo S8l (63959 1 aS gylude U Herwd 5
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if (condition){ }
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#include <iostream>
using namespace std
int main () {
int i = 1;
l:cout <<”Hello,world!\n”;
i =1i+1;
if (i <= 5){goto 1;}
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if (conditionl && condition2){ }
else { }
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#include <iostream>
using namespace std;
int main () {
int a=1, b=3;
if ((a==1)&&(b==4||b==3))
cout<<’ok”;
return 0;

}
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#include <iostream>
using namespace std;
int main(){

int a;

cin>>a;

if (a%2==0)
cout<<”even”;

else

cout<<”odd”;
return 0;
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#include <iostream>
using namespace std;
int main () {
int a=1;
bool b;
if (a==1) b = true;
if (b){cout<<!b;}

return 0;
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while (condition ) { }
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#include <iostream>
using namespace std;
int main () {
int 1=0;
while (i <5){
cout<<”hello world "<<endl;
i=i+41;

do-while adl> 7.\Y.Y
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do{

} while(condition);
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#include <iostream>
using namespace std;
int main () {
int 1=0;
do{
cout<<”hello world "<<endl;
i=i+1;
}while (i<5);
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int a = (condition) ? {b} : {c};

Sl 25 sgred ol e ¢yl

int a;
if (condition) {a = b;} else {a = c;}
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int i=10;
cout<<4+i<<endl;
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cout <<i+4<<endl;
cout<<i<<endl;
1——;

cout<<i<<endl;
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‘ for (statement 1; statement 2; statement 3){

}
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#include <iostream >
using namespace std;
int main () {

for (int i=0;i <5;i++){cout<<”HelloWorld"<<endl;}
}
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#include<iostream>

using namespace std;
int main () {

for (int i=7;i<=77;i+=7){cout<<i<<endl;}
}
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#include<iostream >

using namespace std;
int main () {

for (int i=20;i>=2;i —=2){cout<<i<<endl;}
}

#include<iostream >

using namespace std;
int main () {
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for (int i=99;i>=0;i —=11){cout<<i<<endl;}
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switch (expression) {
case X:

break ;
case y:

break ;
default :

}
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#include<iostream>
using namespace std;
int main () {
int a;
cin>>a;
if (a%2==0) {cout<<”even”;} else{cout<<’odd”;}

}
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#include<iostream>
using namespace std;
int main () {
int a;
cin>>a;
switch (a%2)
{

case 0:
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cout<<”even”;
break ;

case 1:
cout<<”odd”;
break;
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#include<iostream >
using namespace std;
int main () {
int grade;
cin>>grade;;
if (grade==20) cout<<”well”;
else if (grade==18) cout<<”good”;
else cout<<”unknown”;

ipudd plool switch-case (9uu |y 4ol (o eudlsie Sl

#include<iostream>
using namespace std;
int main () {
int grade;
cin>>grade;
switch (grade)
{
case 20:
cout<<”’well”;
break ;
case 18:
cout<<”good”;
break;
default: cout<< "unkown”;
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#include<iostream >
using namespace std;
int main () {
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int i=-—1;

while (i <100){
i++;
if (1%2!=0) continue;
cout<<i;

oy
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#include<iostream>
using namespace std;
int main() {

int i = 0, a,min;

cout << ”Please_ enter_ the, first_number:”;
cin >> a;

min = a;

for (i = 1; i < 1000; i++) {
cout << ”"Pleaseenter ”<<(i+1)<<”thy,

number:”;
cin >> a;
if (min > a) min = a;

}

cout << ”the_ min number is:
return 0;

7 << min;
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#include<iostream >
using namespace std;
int main(){
int a,b,c;
cin>>a>>b>>c;
if (axa==(bxb+cxc)) cout<<’yes”;
else if (bxb==(axatcxc)) cout<<’yes”;
else if(cxc==(axatbxb)) cout<<’yes”;
else cout<<’no”;
return 0;

S Ol hnsuas panb sbadesgudo a5 dewgn slaoly e

#include<iostream>
using namespace std;
int main () {
int n;
cin>>n;
while (n<1){
cout<<”please enter a natural number”;
cin>>n;
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}
for (int i=1;i<=n;i++){

if (n%i==0) cout<<i<<endl;
}

return 0;
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#include<iostream>
using namespace std;
int main () {
int n,fact=1;
cin>>n;
for (int i=1;i<=n;i++)
fact=factxi;
cout<<fact ;
return 0;
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#include<iostream >
using namespace std;
int main () {
int n;
cin>>n;
for (int i=2;i<=n/2;i++)
if (n%i==0){
cout<<”noprime” ;
return 0;
¥
cout<<”prime”;
return 0;
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#include<iostream>
using namespace std;
int main () {
int n,sum=0;
cin>>n;
while (n>0){
sum=sum+(n%10) ;
n=n/10;
}
cout<<sum;
return O0;
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#include <iostream>
using namespace std;
int main () {
int x;
float a=1, sum=1;
cout<<”enter the power”’<<endl;
cin>>x;
for (int i = 1;i < 1000;i++){
a=a*x /[ ij;
sum += a;
}
cout<<”the janswer is:
return 0;

”

<<sum;

}
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#include <iostream>
using namespace std;
int main(){

int n, m, min = 0, ged = 1;
cout<<”enter two_numbers’<<endl;
cin>>n>>m;
if (n>m)

min = m;
else min = n;
for (int 1; i <= min; i++)

cout << 7g.c.d=" << ged;
return 0;

}
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#include <iostream>
using namespace std;
int main () {
int al, a2, a3, a4, ab;
int c1=0, ¢c2=0, ¢3=0, c4=0, c5=0;
cout << ”enterfive_numbers”’<<endl;
cin >> al >> a2 >> a3 >> a4 >> ab;
if (al = a2){
cl++;
c2+4+;

if (al = a3){
cl++;
c3++;

if (al = a4){

cl++;
cd+4+;
}
if (al = ab){
cl++;
cH++;

if (a2 = a3){
c2++;
c3++;

if (a2 = a4){
c2++;
CASETS

if (a2 = ab){
c2++;
c5++;

if (a3 = a4){
c3++;
c4++;

if (a3 = ab){
c3++;
c5++;

if (a4 = ab){
c4++;
c5++;

if (cl = ¢2 & ¢2 = ¢3 && ¢3 = ¢4 && c4 = ¢b)
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cout << 7 All jare same”;

else

if (¢l >= ¢c2 & cl >= ¢3 & cl >= ¢4 & cl >= ¢b)
cout<<”the answer is:’"<<al;

else

if (c2 >= cl && c2 >= ¢3 & ¢2 >= c4 && c2 >= ¢))
cout<<”the answer is:"<<a2;

else

if (e¢3 >= cl & 3 >= c2 && ¢3 >= c4 & ¢3 >= ¢5)
cout<<”the answer is:"<<ad;

else

if (cd >= cl & c4 >= c2 && ¢4 >= ¢3 && c4 >= ¢b)
cout << ”the answer is:” << a4;

else

if (cb >= cl & ¢5 >= ¢2 && ¢b >= ¢3 && cb >= c4)
cout <<’the answer is:"’<< ab;
return 0;
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int main () {
int ¢[7];
c[0]=10; c[1]=12; c[2]=51; c[3]=14;
c[4]=17; c¢[5] =19; c[6] = 32;
int a=3;
int b=1;
clatb]=c[4]=1T;
}
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#include <iostream>
using namespace std;
int main () {
int c[10];
for (int i=0;i<10;i++){
cout<<’enter c[’<<i<<”]”"<<endl;
cin>>c[1i];
}
for (int i=0;i <10;i++)
cout<<c[i]<<”\ uu’;
return 0;
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#include <iostream>
using namespace std;
int main () {
int ¢[10];
int sum=0;
for (int i=0;i <10;i++){
cout<<”enter c[’<<i<<”]”<<endl;
cin>>c[1i];
sum=sum + c[i];
¥
cout<<’sum =  "<<sum;
return O0;
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int main () {
int c¢[7] = {10,12,51,14,17,19,32};
}

b el plp

int main(){
int ¢[7];
c[0]=10; c[1]=12; c[2]=51; c[3]=14;
cl[4]=17; c[5]=19; c[6]=32;

}
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intal3] = {1,4}
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int main () {
ChaI’ C[]:{7S7,7a7771777a777m777\07};
char s[]={"salam” };

ol gl pize VFLY
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int main () {
const int array_size = 10;
int myArray[array_ size|;

}
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#include <iostream>
using namespace std;
int main () {
const int size=5;
int a[size], c[size];
for (int i=0; i<size; i++){}
cin>>a[i];
c[i] = 0;

for (int i=0; i<size; i++)
for (int j=0; i<size; j++)
if (afi]==alj])
cli]++;
int index=0;
int max=c[0];
for (int i=1; i<size; i++)
if (c[i]>max){
max=c [ 1 ] ;
index=i;
}
cout<<a[index|<<endl;
cout<<index<<endl;
cout<<c[index|<<endl;
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return 0;

iomanip 4ulS  4.Y
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#include<iostream>

#include <iopamip>

using std::setfill;

using std::setw;

using std ::cout;

int main () {
cout<<setw (10)<<endl;
cout<<setw (10)<<”salam”<<end]
cout<<setw (2)<<”1"<<endl;
cout<<setw (2)<<”1237"<<endl;
cout<<setfill (’a’)<<setw (5)<<”bbb’<<endl;
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#include <iostream>
int main () {
const int len=10;
int a[len],i,j,temp;
for (i=0;i<len ;i++)
std ::cin>>ali];
for (i=len —2;i >=0;i —)
for (j=0;j<=i;j++)
if (alj]>alj+1])
{
temp=a [ ] ];
aljl=alj+1];
a[j+1]=temp;
}
for (i=0;i<len;i++)
std ::cout<<a[i]<<’\t’;
return 0;

Sdw9d sl alyl VLY
sl 525 &390 a3 Al iy pad 0950 L dikud (it S0 s )T 31 o8 e ety (sl aSg0mm0 suas 93 b Al
datatype arrayname[rows|[colums]

B9 Wblg> 5 g0 @ all slasl 4y i 092
arraynameli][j] = 0
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#include <iostream>
using namespace std;
int main () {
const int rowsize=3;
const int colsize=4;
int a[rowsize][colsize |;
for (int i=0; i<rowsize; i++)
for (int j=0; j<colsize; j++)
cin>>a[i][j];
for (int i=0; i<rowsize; i++){
for(int j=0; j<colsize; j++)
cout<<al[i][jl<<’\t’;
cout<<endl;

}

return 0;
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#include <iostream>
using std::cout;
using std ::endl;
#include <iomanip>
using std::setw;
int main(){
int A[3][4];
int B[3][4];
int C[3][4];
for (int i=0; i<3;i++)
for (int j=0; j<4;j++)
cin>>A[1][]];
for (int i=0; i<3;i++)
for (int j=0; j<4;j++)
cin>>Bli][]];
for (int i=0; i<3;i++)
for (int j=0; j<4;j++)
Cli][j]=A[1][J]+B[i][Ji];
for (int i=0; i<3; i++){
for (int j=0; j<4; j++)
cout<<C[1i][j]<<’\t;
cout<<endl;

}

return 0;
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int A[2][2]={{1,2},{3,4}};
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#include <iostream >
using std::cout;
using std:: endl;
#include <iomanip>
using std::setw;
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int main(){

int A[2][3];
int B[3][4];
int C[2][4];
for (int i=0; i<2;i++)
for (int j=0; j<4;j++)
Cli][j]=0;

for (int i=0; i<2;i++)
for (int j=0; j<3;j++)
cin>>A[i][j];
for (int i=0; i<3;i++)
for (int j=0; j<4;j++)
cin>>B[i][j];
for (int k=0; k<2;k++)
for (int i=0; i<4;i++)
for (int j=0; j<3;j++)

7Y

Cll][il+=A[k][j]*+B[j][1];

for (int i=0; i<2;i++){
for (int j=0; j<4;j++)
cout<<setw (5)<<C[i]]
cout<<endl;

}

return 0;

ils
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#include <iostream>
using namespace std;
int main () {
const int size = 10;
int A[size];
int temp;
for (int i = 0; i < size; i++)
cin>>A[1];
for(int i = 0; i < size/2; i++){
temp = A[size—i —1];
Alsize—i—1] = A[i];
Ali] = temp;
}

return 0;
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#include <iostream>
using namespace std;
int main(){
const int Arraysize = 10;
int min, temp;
int A[Arraysize|;
for (int i = 0; i < Arraysize; i++)
cin>>A[1i];
for(int i = 0; i < Arraysize—1; i++){
min = i;
for(int j = i+1; j < Arraysize; j++)
if (A[]<Ali])
min = j;
temp = A[min];
Almin] = A[i];
A[i] = temp;
¥
for (int i = 0; i < Arraysize; i++)
cout<<A[i]<<’\t’;
return 0;
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A[Rows][Cols]
Ali][j] soysT = base Address + ((i*Cols+j)*element size)
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#include <iostream>
using namespace std;
int main() {
const int arraysize = 5;
int j, insert;
int Alarraysize ];
bool change = false;
for (int i = 0; i < arraysize; i++)
cin >> A[i];
for (int i = 1; i < arraysize; i++) {
insert = A[i];
j i—1;
change = false;

ATj+1] = A[j];
J—=
change = true;
if (change) {

J++;

A[j] = insert;

¥

for (int i = 0; i < arraysize;
cout << A[i] << "\t’;

return 0;

while (j >= 0 && insert < A[j] ) {

i++)
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#include <iostream>
using namespace std;
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int main () {
int a = 10/3;

cout << a;
a = 10x2.5;
cout << a;
S
3
25
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#include <iostream>
using namespace std;
int main () {
for (unsigned char ¢ = 0; ¢ < 255; c++)
cout <<(int)c <<’ ,’<< ¢ << endl;
return 0;

enum YY.Y
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#include <iostream>
using namespace std;
int main () {
int a;
cout<<”Diploma=0, Master=1";
cin>>a;
if (a==0) cout << ”good”;
if (a==1) cout << "well”;
else cout << ”Incorrect number”;
return O0;

}
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enum week {Sunday, Monday, Tuesday,
Wednesday, Thursday, Friday, Saturday };
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enum boolean { false, true };

enum season {
spring =
summer
autumn
winter =

I
=00 R O

i
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#include<iostream>
using namespace std;
enum Degree{Diploma, BS, MS};
int main () {
Degree d;
cin >> d;
if (d=Diploma) cout << ”good”;
else if (d==BS) cout << ”very good”;
else if (d=MS) cout << "well”;

else cout << "Incorrect number”;
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#include<iostream>

using namespace std;

int main(){
int a, b, c;
cin>>a>>b>>c
if (a>=b && a>=c) cout << a;
if (b>=a && b>=c) cout << b;
if (c>=a && c¢>=b) cout << c;
int x, y, z;
int px, py, pz;
cin>>x >>y >>7;

PX = X*a;
py = yxb;
Pz = zZ*cC;

if (px>=py && px>=pz) cout << px;
if (py>=px && py>=pz) cout << py;
if (pz>=px && pz>=py) cout << pz;

}
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return__type function_ name( parameter list separated with )’ )
{/*body of the function...*/}
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void f()—void f(void)

#include<iostream >
using namespace std;
void printhello (){

cout<<”Hello”;
}

int main () {
printhello () ;
return 0;
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#include <iostream >

using namespace std;

void sum(int a,int b){
cout<<a-+b;

int main () {
int x=10,y=20;
sum (x,y) ;
return 0;
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#include <iostream>

using namespace std;

int boxvolume (int,int.int);
int main () {
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cout<<boxvolume () ;
cout<<boxvolume (10) ;
cout<<boxvolume (10,5) ;
cout<<boxvolume (10,5,2) ;

}

int boxvolume (int length=1, int width=1, int height=1){
return lengthsxwidthxheight ;

¥

Jxo g (0508 i YLYYLY

Lkwd (o pmiiolocal b oo sl piio 3510 3529 b doliyy 30 (s050S 9 (v sjuiio 55 90 IS > 5o
Sas wxd (ol juike o308 b global sl jite . sud (o yiwd BB b 9y badd 5y 05 wlsi (yy0 &S
Sl pges Geiwd 58 9 WpS (oo 513 oslinwl 3y50 asliy slo iy ack

A b @b Oleogad B 0uSoe sbwl b cy i b lsdome |y 20,5 7 ko Somy cpl Jsl 5o &5 1) Sl JU>
s

FYPTER GO aJ&YWAASgl%I)LQJTWSLc @3S I8 3l aue ¥ aS s sl aoliy fidlie
S Ol |y il yliae poruSTle uams 503,52 Jsl dus 50

#include<iostream>

using namespace std;

void printmax(int a,int b,int c¢){
if (a>=b && a>=c) cout<<a;
else if (b>=a && b>=c) cout<<b;
else if (c>=a && c>=b) cout<<c;

int main(){
int a,b c;
cin>>a>>b>>c
printmax (a,b,c);
int x,y,z;
cin >>x>>y>>7
printmax (x*a,y*b, z*c) ;

}
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#include<iostream>
using namespace std;
int printmax(int a,int b,int c¢)

int max;

if (a>=b && a>=c) max=a;
else if (b>=a && b>=c) max=b;
else if (c>=a && c>=b) max=c;
return max;

int main () {
int a,b c;
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cin>>a>>b>>c;
cout<<printmax(a,b,c);

int x,y,2;

cin >>x>>y>>7

cout<<printmax (x*a,y*b,z*c) ;

dretois |y Olgd @U-

#include <iostream >
using namespace std;
int pow(int x,int y){
int result=1;
for (int i=0;i<y;i++)
results=x;
return result ;

int main(){
cout<<pow (2,3) ;
return 0;
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#include <iostream>
using namespace std;
int factorial(int x);
int main () {
int x;
cin>>x;
cout<<”factorial is:”<<factorial (x);

int factorial(int a){
int result=1;
for (int i=1l;i<=a;i++)
result=resultx*i;
return result ;

.n&lgwlblaw&gmamdwb-

#include <iostream>
using namespace std;
bool prime(int a){
int s=0;
for (int i=2;i<a;i++){
if (a%i==0)
S++;
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if (s==0)

return true;
else

return false;

int main () {
int x;
cin>>x;
bool result = prime(x);
if(reult) cout<<x<<” is_a,prime number”;
else cout<<x<<”  is_ not a prime number”;
return 0;

S Ol e B ol slusl S dpunsis 51 a0l [ Jls

#include <iostream>
using namespace std;
bool prime(int a){

int s=0;

for (int i=2;i<a;i++){
if (a%i==0)
S+-+;

if (s==0)

return true;

else

return false;

}

int main () {
for (i=100;i <1000;i++)
if (prime(i))
cout<<i<<’\t’;
return 0;
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#include <iostream>
using std::cout;
using std ::endl;

void uselocal ();
void usestaticlocal ();
void useglobal () ;
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int x=1;

int main(){
{
int x=5;
cout <<x;
x+=3;
cout<<x;
}
cout<<x;
uselocal () ;
usestaticlocal ();
useglobal () ;
cout<<x;
uselocal ();
usestaticlocal ();
useglobal () ;
cout<<x;
return O0;

void uselocal (){
int x=25;
cout<<x;
X++;
cout<<x;

void usestaticlocal (){
static int x=50;
cout<<x;
X4+
cout<<x;

void useglobal (){
cout<<x;
xx=10;
cout<<x;
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#include <iostream>

using namespace std;

int number=7;

int main () {
int number=10;
cout<<number<<’ |’ <<:number;
return 0;
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#include <iostream>
using std::cin;
using std::cout;
using std::endl;

int pow2(int);

int main () {

int a=10;
cout<< ”"squared  is:”<< pow2(a);
return 0;

}
int pow2(int x){

return x*Xx;
}
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#include<iostream>

using namespace std;

inline double cuble(double size){
return sizexsizexsize;

}

int main () {
double size;
cin>>size
cout<<cuble (size);
return 0;
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#include <iostream>
using namespace std;
double f(int x){ }
int main () {
int a = 10;
f(a);
return 0;

}
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#include<iostream >

using namespace std;

int squarebyvalue(int);

void squarebyreference (int&);

int main () {
int x=2;
int z=4;
cout<<squarebyvalue (x);
cout<<x;
squarebyreference (z);
cout<<z;
return 0;

}
int squarebyvalue(int a){
return a*a;

}

void squarebyreference (int&a) {
a=axa;
}
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#include <iostream >
using namespace std;
int main () {
int count=1;
int &CRef = count;
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CRef ++;
return 0;

S S by 5 ol >e > [idle

#include<iostream>
using namespace std;
int main () {
int x=3;
int &y = x;
cout <<x<<’, '<<y;
y="1;
cout<<x<<’, <<y ;
return 0;

3,3
7.7

plod wlss 7YYV

3 «iysS (oo function overloading b aliod wlsi Iy (5lie 5 & 53) wglie o HloSHT Jg pliod (il paisss
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5 8529 Gl sl yielil b pliod wilsi 352 (el g . aiS

#include <iostream >
using namespace std;
int square(int x){

return x*x;
}

double square (double x){
return x*x;

int main () {
cout<<square (5)<<endl;
cout<<square (2.5)<<endl;
return 0;

25
6.25
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void f(x){
/*codesx*/
f(x);
/*codesx*/

S o 0unlie ) 3 Iy alitane pé S @ uS 1 sl ised paizmon

void f(x){
/*codesx*/
g(x);
/*codesx*/
}
void g(x){
/*codesx*/
£(x);
/*codesx*/
}

&9 ol 318l Wlgzs Hlb Aoyl oF g 4y Wikl axasls |y aoils byds Lok wiby iS5l pild
g (oo o3litul 2Ly (1ES3L Al o355l ey s Aol
e gh iS5l b 9S8 dnmle (sl

#inlcude<iostream>
using namespace std;
int fact(int n){
if (n==0) return 1;
else return nxfact(n—1);

int main () {
cout<<fact (4); // output is 4!=24
}

Blap b lsi sy aas usS sbul sl xSk @U-

#inlcude<iostream >
using namespace std;
int mypow(int a, int b){
if (b==1) return a;
else return asxmypow(a,b—1);

int main () {
cout<<mypow (4 ,4); // output is 2506
}

S bl syl gy 4 pepr dsline sl s 2853 6 [RIES]

#inlcude<iostream>

using namespace std;

int ged(int a, int b){
if (a%b==0) return b;
else return gecd(b, a%b);
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int main (){
cout<<ged (72,80) ;
}

S Sl 1y (2 Ugad (5w 4 dpgis (S50 U S e

#inlcude<iostream>
using namespace std;
int fib (int);
int main () {
int x;
cin>>x;
cout<<fib (x);
return 0;
}
int fib (int a){
if (a = 0||a==1) return a;
else return fib(a—1)+fib (a—2);

abaall ol AYYY
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#include<iostream>

using namespace std;

void print_array(int a[], int size)

{ for (int i = 0;i<size;i++)
cout<<alil];

int main () {
const int max_size = 10;
int a[max_size];
print__array (a,max_ size);

sl £yl b Sl €55 31 03ls00 6 4y anlyT Jo, | [
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g double g int gy as @U Lz Rdsd sy gy ol 31 by slbus 3l 6);919 Sl ow S oslarwl plates
05 (0 03laxw! (ki 5 Wiile char

int max (int x1, int x2, int x3){
int max;
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return max;

}

double max(double x1, double x2, double x3){
double max;

return max;

}

char max(char x1, char x2, char x3){
char max;

return max;

}

393 53 |y iglate (539)5 W 03ld &S 3,5 odlaiul WS o SU Ty U 31 & 55 Liz &S Wb SO 51 pudlsT o
eI B Y JoSo g ups sl

template <class T>
T max (T x1, T x2, T x3){
T max;

return max;

}

55508 pl o Lot g sl 01 SO T oS andl . S 51,8 Wil o sl 00l £ 53 12 193 (o T sl 2 b 5o
Aged Ay UGS iy & o ol 31 e duilgine duud Hlelyd a5 31U B 4 (icrod IS (230l dleise
S Axg p)

template <class T, class S>
f (Ta, ...,Sb)

cmath 4lulsS  YF.Y

o woly odi eslol &9 510l oo &S sl Wiy 5o &S cewl CH b sl SlulS 31 cmath Gluls
Zatmo 348 5 WS oo =Bl )8 silas] sus oS il ceil usS ooliiwl wilgise a5 alsd alox 31 .0,S odlawl
98I @y 5,5 wale> anwlxe 1y (b d> o Sus flooT Wb uizzed 3,5 walg> sbul bo sl |y Fb 4 u>

2D 18 ool dyge il (o 4 witud ALLS (l 5o 55 0,0€ g COS

#tinclude<iostream>
#include<Cmath>
ceil(x)—(x]—(Y.F)=Y¥
floor(x)—(x]—(Y.f])=Y
sin(x) cos(x)—x :;baly oy
tan(x)

fabs(x) :lho ;43

fmod(x) : s lic! ouilo 3L
log(x)—>log(Y.$\AYAY)=)+
log)+(x)=log\+(+*+)=Y
pow(z,y) — x¥

sqrt(x)— \2/5
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cstdlib sluls Y0¥

AL slasl @3bud g (Bolad jlude slogl wilsl alel .l 33555 (slo alulS” alox 31 estdlib ailulis
3,555 51,3 00lesul Syg0 Lilg o Slasl ay 1SS 4

#include<cstdlib>

als> o 5105 eslixul o3 oo rand() @b 3l RAND-MAX 5+ o 85las sus G aldsi sl
950 42 1y @b ol b S Sbml (Solal wyso b Ba g s S

z=rand()%(b—a)+a
PO (o0 A 2T
cstring GlulS  YP.Y

sl s Sl 5SS by Lol 5 5SS 3l (gl (omlsd cstring aillss

#include <cstring>

int isdigit (char);

Sgd o 00 45,59 o e dbl sus

int isalph (char);

D3 oo o 8355 yho pé wil Ll By~

int isalnum (char);

Ssd g0 o 435y jho pé wbl Bl sus

int islower (char);

Ssh o ho 455 hopd wibl S2sS By S|

int isupper (char);

Ssh o ho 455 ho pd dbl Syn b

int strlen (char[]);

S o 0 Lo aoldl 53 Iy strlen b 1)l 31 (gl diged LS oy aisy lod b sSHIS 31 sl aylyl Jsb

char ¢[10] = "Hello”;
cout<<strlen (c¢);

streat: b b x5S b 4l uilues

char cl[] = "Hello” ;
char c2[] = "Bye”;
cout<<strcat (cl,c2);

strepy: @b b Jsl 4l 5o pod all 53,8 oS
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char cl[] = ”"Hello” ;
char ¢2[] = ”"Bye”;
strepy (¢l ,c2);
cout<<cl;
cout<<c?2;
int: stremp b aésy 90 dwlio
char cl[] = 7"Hello” ;
char c2[] = "Bye”;

cout << stremp(cl,c2);

B (0 (29> a0 pd 5o (| 50 ho Wbl ply didy 50 &S Tyso 50 mlicnl 5o
LS 0l W aoldl Ho . usS gilw 00l WHls Cwwgd &S jshiled |y algs ol Wdlgie 3 USe> adl
O b wis B} &5 30 93 &S b @lsi ol wlsine a5 GBos>
S5 8 5 WS ouplins [y IS alonl Wigy Lo U el oo s5lw 03ly Lo xSThlS

bool iSALPHA (char a[]){

for (int i = 0;a[i] != "\07;i++)
if (lisalph(a[i]))
return false;

return true;

void trancate(char a[],int n){

a[n] = "\0’;
}

int main () {
trancate ("Hello” ,0) ;

}

9 32350 sk (o ety atiny slgil &S o510 D188 (e (WS (o @B |y aiyy w3l U el 5o
ol wle> b as 58959 31 (KL pol> KT §0,0d Cg> U SO

int count(char a[],char ¢){
int count=0;
for (int i=0; a[i]!="\0"; i++)
if(a[i]==c)
count+4+;
return count;

}

Ssen b il Ak B usd o 51,3 alold zS1,l5 asl oS n 3l iy a5 ol 0310l du s o3 b
shn b ply atk, o8 S ) Sladyy a5 slojluil ey 50 505

void padRight(char a[],int n){

int lent = strlen(a);
while (len<n) {
allen] = "7,
len++;
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}

int main () {
padRight ("hey” ,5) ;
}

3,5 odlasu] WilgT (o 115 U 3 e Caunly Ceowe yd BLoI sl alold B> g

void trimright (char al]){
int last=strlen(a)—1;
while (a[last]==",")
last ——;
al[last+1]="\0";
}

b alox iz w8 cdl)s |y alon win SO dnle sl (5395 el &5 dwsiy sl 4ol [ilRe
23 Giwlod (29,5 50 |y doedl 9 dwlxo

ant™ + ap_12" N+ Fayz + ag

#include<iostream>
using namespace std;
const int maxDegree=10;
int main () {
int degree;
int x, sum=0;
float coefficients [maxDegree+1];
float xpowers|[maxDegree];
cin>>degree ;
for (int i=0; i<=degree; i++)
cin>>coefficients [i];
cin>>x;
xpower [0]=1;
for (int i=0; i<=degree;i++)
sumt=coefficients [i]*xxpowers|[i];
cout<<sum;

lo,Soplisl  YV.Y

SomeolS Lol aAlblo 0580 By 1330 4SS 353 55 1y K5 s ymite ool &S sl gpmize Soyll
t e sl 256MB
256 x 210 Byte
sl 32 Bit 14 Byte o Luysl sl alidl> 2

cout<<n;
cout<<&m;

9350 ) &3 yprie 933l o3yl s 51 & Slos g
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0 0x00000000

10 4 byte

256*2%° OxfFFfff

int i=6;
int *p;

3901 ymixe Lydl 551005 gz 45 350 Gaani P pU L RAM alblo (5558 by ¥ ysimss ol piosi b

355 o 1,3 oslazl
int main(){
int 1i=6;
int xp=&i;
cout <<i<<&i ;
cout<<p;
cout<<&P;
cout <<xP;
Ak Wiy gy Hlude xS oylil pyls aS ol & derefrence
cout <<x&i ;
A2 e Giled Iy £
cout <<&i ;
A2 o3 Lo 4y Iy (uydT 5 s Soyliol 15 um3 0 95
cout <<x&p;
23 o Hiwled Iy Ve f
cout <<&*p;
23 o Hiled Iy Ve f
int &x=i;
X=#p;
*p=10;

.byf'dgo x=i=10 )g.bl.i.o )lS L)'?.‘ L)
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gl &9 3l b iS5l YVLY

ol Elayl &5 31 b <t S3L 31 0lsi oo )T 31 25l 4y ol sloxl @l (930 A5 (5 micte ydT Jloyl g
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int main ()
{
int m=40;
int n=20;
cout<<max(m, n);
cout <<nxk<n;
max (m,n)=50;
cout<<max(m, n);
cout <<nxk<n;

int max (int &m, int &n)
if (m>n)

return m;
else return n;

oSae Joo 15 W90 a4 wil Elayl 4 i SSh 5l A yse 5o

int main () {
int m=40, n=20;
cout<<max(m, n)<<m<<n;
max (m,n)=50;
cout<<max(m, n)<<u<<n;
}
int &max(int &m, int &n){
if (m>n)
return m;
else return n;

LQ;O)L&‘ S99 )lza CJlfJ.oS« Y.YV.Y
S 1y o a4y e S oylil 93 53, 65 o slusl 5 Lok Wlilos woluil lsi o 1S 0yLil 595 2

olwi! )

int 1=6;
int *xpl=&i;
int *xp2=pl;

o slasly Lol Oldes Y
o 4 Cand Sojlil 93 (3,5 o5 LY

pl=pl-+1;
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cout << pl;
cout << pl—-p2;

(B S oylal gy ar) WS 2ss o2 b Iy el (sl 5 0wt 081y (T ay jpixe 95 &S wipy Jle (b [Jls
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void swap(int a, int b){
int temp = a;
a=b;
b=temp ;

int main () {
int a, b;
cin>>a>>b;
swap (a,b);

LS oupline |y abgy o US dolsl)s L oan (lodud & euilgine Lo 5 oyLisl 31 oalaxuwl b Lol

void swap(int* a, intx b){
int temp = xa;
xa=xb;

*b=temp ;

int main () {
int a, b;
cin>>a>>b;
swap(&a,&b) ;

nullptr Y.YV.Y

Olas oS Cunl 818 1,3 G WBlg 50 yho wdadi ay oLl .uf.:.ose)h%l‘_g}gé@q«fwl;o)wl&gﬁ)‘o)g;
55 NULL b nullptr b null b gl olgie 5ols 513 oo b ply sl 4 . asSiod oylio] sl 4y 5 o)lisl w2s
twd St Joleo Lol dod 8,5 51,8

int * p = nullptr;

S azs3 15 Jle 4 % )3 sl WS oo oLl Ayl Sl Al aS el i [T 0Ll S T ol
sl ey Ty 23 S (29,5 e 9 IS eune 3 GUSgE (sl Iy abidle IS Tl (2]l

#include <iostream >
using namespace std;
int main () {
const int num = 3;
int array [num]={2, 4, 6};
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int
int
int
int
iptr

xiptr;

*iptr2 ;
*iptr3;
i §

= array;

iptr3 = array;

for (

int i = 0; i < num—1 ; i++){
iptr2 = iptr + i ;

AY

cout<<i<<array [1]<<kiptr2 <<siptr3 <<x(iptr

+ i)<<endl;
iptr3++;
¥
¥
{4
02222
144414
RAM
1000
num 3
2
4
6
i 1004
2 1008
s 100C
i 2
amay 1004

YU Jlo 55 odds aSlyl 45 shnl (gl alibls gloks :0.¥ JSi

WS gl 3 IS A R S g cwlal BB 50 b Ak o) 1 pagie ol
sl Sy 23S sl |y (e o Al gsLo»‘"-

#include<iostream>
using namespace std;

int main () {
char

*S = "hello”;

for (int i = 0; i<h ; i++)

cout << sl[i]; // or *(s2+i);

o
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hello

S

B nnnnnn

I Jlko 53 ol ailyl A5 (sl (gl dlibls slok 9. IS

sl Cwd Iy 15 08 (29> -

#include<iostream >

using namespace std;

int main () {
int a[3] = {2, 4, 6};
int *p = a;
int xp = a[0];
cout <<x(p+1l)<<p[l]<<all]<<x(a+1);

t2e> w0 F i a T ags wils (5 WisS (o oyliol a4 s dkiigd 350 502 2

4444

S sl 6 S 4y 3 08,5 oS 51 (RO

#include<iostream>

using namespace std;

void copyl(charx , charx);

void copy2(charx , charx);

int main () {
char stringl [10];
char *string2= "hello”
char string3 [10];
char string 4[]= "goodbye”;
copyl (stringl , string2);
cout << stringl;
copy2(string3 , string4);
cout << string2;
return 0;

b

void copyl(char sstringl , char xstring2) {
for(int i = 0 ; string2[i] != 710”7 ; i++4)
stringl [i] = string2[i];

void copy2(char sstringl , char xstring2){
for( ; string2 != 7\0” ; string2++ , stringl++)
¥stringl = xstring?2;

2D (e plosil (g 90 4y |y adlhy oYL uS o copyY g copy) b 9o 5o
S sl T o) axy SO sl Al T T Ol dlﬁ-
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#include<iostream>

using namespace std;

void printcharacter (const charx);
int main () {

const char phrase = ”"salam”;
printcharacter (phrase);
return 0;

}

void printcharacter (const char ssptr){
for ( ; xsptr != ’"\0’ ; sptr++)
cout << *sptr;

s ysl s Iy 523 doliyy (2> il

#include<iostream>

using namespace std;

float& component(float *f , int k){
return f[k—1];

int main () {
float f[4];
for (int i=0; i<4;i++){
component (f, i) = 1.0/(i+1) ;
cout<<f [i]<<’\t 73
}

return 0;

11/21/31/4
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void f(int * a) { }

o2 Qlsobl eudlyzers Hlods> 4y (Jg - oniSiso odliul S oylisl 51 (oS 3l 08,5 o5 slp o (2
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#include<iostream>
using namespace std;
void printArray (const intx a, int size){
for (int i=0; i<size; i++)
cout <<x(a+i);
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int main () {
intx p;
int a[l10]={0};
printArray(a,10);
return 0;

}

Q) el s i ya3 cOnSt § 55 51 a8 el AT SO @) S oylinl S a pike 3ok o oudlie 45 yshilen

3L obaisl a wod aolip 518, U2lgds sl a wise 098 lbyluse printArray &b 03y &5 Cnlbino
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intx f() {
int a=10;
intx aptr=&a;
return aptr;

int main () {
intx p = 1();
cout <<#p;

ST
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int main () {
intx p = f();
cout <<#p;
*p=20;
cout <<#p;

10 20
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int main () {
int x, y;
int *xconst ptr=x;
*ptr="7;
ptr=y;
return 0;

}

353 psgo dolo Gl S sl oual yuito & 99 Ly pa 3ty cOMSE ABlS 398 (o0 ouplio a5 jshilod
WS o oylaol o 4 PET aS 1) gludo o)ls3 o sl ool datatype ;1 ae const ;s YU digod 43 .35 0
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#include<iostream>
using namespace std;
void main ()

{

int x, y;

x = 10;

const intx p = &x;
x = 11;

cout << *p;

p = &y;

*p = 12;

}

9.8 5L SO 1y const dolS wilgie ok a5 adl Lol s olsd ol X 30,b 31 ) e Hlude YU aiged 5o
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int main () {
int x=5, y=6;
const intxconst ptr=x;
cout <<xptr;
*ptr="7;
ptr=&y;
return 0;

}

axisls 3529 const aols b data type 31 s o 5 des o2 145 ol pyles Y ig0) dw s az53 b Jb>
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int f(al],b[]n,m){
for (int i=0;i<n;i++)
if (a[i]==b[0])
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for (int j=0;j<m;j++){
if (ali+j] = b[j])
break ;
if (j==m)
return j;

return —1;

3 oyLisl 31 oolixul b

int* f(int xa,int *b,int n, int m){
int*x end=a+n—1
for (int* p=a; p<=end; p++)
if (xp==xb)
for (int j=0;j<m;j++)
i (p[j]1=b[j])
break ;
if (j=m)
return p;
return nullptr;
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int main () {
int * ptr = new int;
*prt = 5H;

}

oliul new o3ly LS 31 Ligy iyso  dbidls O iy yad S (D5d (0 0 Line YUy diged yo aS jshailen
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int main () {

int * ptr = new int;
*prt = 5H;
delete ptr;
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Wl 5 Oyso ar bgy alible 5o paiie S Bls 5wl cg S 5L Le
datatype * varName = new datatype;
delete varName;
varName=nullptr;

48 sl 50 (2l A T gy aike e (10 omicred

datatype *varName = new datatypel[size];
delete [] varName;
varName=nullptr;

Soplalay Soplasl  AYV.Y

gk oo axdS S oylinl 4y ,S oLl LS o5linl (5,500 oLl 4y aS 5, oylisl @
char ¢ = 'a';
char *pc = &c;
char *xppc = &pc;
char ***xpppc = &ppc;

C |e| Pc |4a| PPC |4 PPPC

sizeof Slos  Ve.YV.Y

) 031u3l LS o e 1y 0310 55 S b g miio S 4 axdly polass! o gl oluss 1 (size of) 50,
Ol wlgd> Giled col cans

int main () {
int i;
cout<<sizeof (i);

}

wb b datatype g1y (Jg oamsns 525 5050 G9ds eilsins o2 55 4 uiio pwel ol,02 1) size of 38y
-2 OB 2 55l Lo

int main () {

int 1i;

cout<<sizeof 1ij;
cout<<sizeof (int);
cout<<sizeof (char);
cout<<sizeof (short);
cout<<sizeof (double);
cout<<sizeof (float);
cout<<sizeof (long double);
(

)
cout<<sizeof (unsigned int);
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cout<<sizeof (signed int);
cout<<sizeof (doublex);
cout<<sizeof (int x);

o, Soylil 31 sl .YV.Y

55 5158 (651852 0562 3y90 AT 3 Asgemme g & Wilsine 55 1S oyl Jseno sl o3l slb & 55 grron
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int main () {
const int b=>b;

int z = 10;
int *a[b];
al0] = &z;
cout<<a [0];

Aild Loy sl abdl> 5o 1y sy Wi sl «gl)TPglwmw|)‘|6ﬁ 0,00 b

int main () {
const int b=b;
int xa[b];
for (int i=0; i<b; i++)
a[i] = new int[20];
for (int i=0; i<b; i++)
delete [] afi];
delete []| a;
a=nullptr;

}
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int main () {
int n, x;
cin>>n>>x;
int *xxa;
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}

a = new int=x[n];

for (int i=0; i<n; i++)
a[i] = new int[x];

for (int i=0; i<n; i++)
delete [] al[i];

delete [] a;

a=nullptr ;

b 9 sl aldl> 595 2 1y 1,5 sl 4y S oylisl 5,8 Jlos! 55 xS S b e ol o0 |y Slidos (rod

A2 e plis

int main () {

char xxs = {”?Hello”, "Bye”};

char #xs = new char x[2];

s[0] = "Hello”;

s[0][0] = "H”; s [0][5] = "\O’;
s[1] = "Bye”:

delete s;

sl sy Iy 03 S 2> idle

int main () {

int **a = new int x[2];

al0]=new int [2];

a[0][0]=10;

2[0][1]=20;

cout <<a<<sa<<&a<<al0] < <xa[0]<<&al0]<<&*al[0]<<endl
cout<<a[0][0] < <x&a<<&ra<<&a[0][0] <<*a [0][0];
delete [] a[0];

delete [] a;

a=0;
}
A3 o 59l g S o 03lal (> sz 3T 3550
Doz ol b
B oG
Yb Jlio LS‘)-.’ alasl> Lglo.& ALY JS;.»
a = &*xa = &a[0] = 0x3e3es8
alo0] afo][0] = 10
*a = al[0] = &al[0][0] = &*a[0] = 0x3e3eal
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void * a ;
(xa)++ ; // Compiler Error

2318 8,0,8 dal pasive S o)l g5 eudles aS ol cnl

w&béb)aﬂfe?sk-
int main () {
int a = 10;
increase(&a ; sizeof(a))
cout << a ;
}
void increase (void #P,int size)
{
*P++;
if (size = size of (int)){
int xa = (int*)P;
(xa)++;
if (size = size of (char)){
char xa = (charx)P;
(xa)++;
}
}
‘o>

compiler error; because of "*P-++:” operation within the increase func-
tion.

sl Casdy Iy 3 a8 w?sf"-

#include<iostream >

using namespace std;

int main () {
int *P = new int;
*P = 10;
inerease (P);
cout << *P;
delete P;

}
void inerease (int x a){
(xa)++;

}

29>
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Struct YA.Y

b sl b 5T Lol 3,8 5 b anlyl ailo caiSioo Jlitl |y alBl> 31 Jlgio 5 axmgn slad a5 23,5 osls & 55 SO
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struct{
{structure elements };
}s

S sl struct SO celw sl idle

struct time
{
int hour;
int minute;
int second;
s
int main () {
time t ;
cout << sizeof (t);

L2 )8 Struct SO o 1) SSb SO wilazie [ iRe

struct account

{
int account_num;
char account_type;
char account_name[50];
float balance ;
time last payment;

} accl;

int main ()

{

accl.account_name = 1210;
accl.account_type = 7a”;
accl.balance = 447.5;
accl.payment.hour = 10;

for(int i =0 ; 1 < 50 ; i++)
{

}

cin >> accl.account_name[1i];

S 8Ly 1)y (818l e 5 pb Lol [ Jle

#include <iostream>

using namespace std;

struct person {
char name[100];
int age;
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}s
void f(person P)

{

P.age = 100;
}
void g(person xP)
{

(#P).age = 100;

}

int main ()

{
person P1 = {”ali” 10};
cout << Pl.age;

f(P1);

cout << Pl.age;

person *P2 = new person;
g(P2);

cout << (xP2).age;

person *P = new person [5];
P—age = 100;

P[1].age = 10;
(x(P+1)).age = 10;
(P+1)—>age = 10;
(&P[1])—>age=10;

Union Y-.Y

Sl SO e ol slas! aon Structe (335 4 aS sl Lugs 4ol Jawgs ouis iy a5 sl 001> & 95 o Union
938 dosls Jlae ST .09d o e O g8 01,5853 03105l elwl Ly Union G o311 06,5 o 41,3 alasl>
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ol 0l aingd 13 4o Union (3,5 by e )bl

union union_name {
member definition ;
i

S 30 member definition; .wSie Gl s acliy a5 Cusl (Blsxls @b union_name Lyl 5o
ol B yuiio ) aC g0z
sl ey ) 3 a0 (2> (1]l

union Data {
int i;
float f;

}i

int main( ) {
Data data, datal;
cout<<"Memory, ;size occupied by data:’<< sizeof (

data)<<’\t '<<sizeof (datal);

return 0;
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FILE xinputFile ;

Wlod o iy, FILE &y S oylisl & o5 31 1 inputFile ,uico «by o oyl
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S 0l sl S bgy e 593 Aol a1y o i pbie ar b g w50 1y o Wb Tl (o G 31 oslinwl (s
1wl 13 S0 a4 Wb ol oMol L858 oo 05lixwl fopen aly (U

FILEx fopen (char fileName[], char mode[]) ;

053le WilgT (oo axdey L US oo i |y Jols R 50 LB (25 ab aS ol 5l asi) < fileName ol
weine "letter. txt" wise a axiy ol axibs Jlo Gleie @ Lail 15 LB e ol (LB SU
"C:\myLetters\letter.txt” wils sl atioy Lol .59 o st 38 0l JLS3 4y 65l Consy 48 53 (39
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398 oo 0u315,55L NULL
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Wby woled o 3l T wledbl (aly 35250
o slensl ay oledbl (il 3550 b ST
33,5 o ol cygo ol pf 5o L 80,5 o adlol

Obile> r
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Okl g (ydlg> I+
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Ols> 9 3938l | a+

C ol b bl &g cundy Jodz V.Y Joux
Slxpogd JB e | axh)
9l (0 3l (SR g0 4 S e t
Dsd (o 5b (298990 Sysoa HB | (a9350 | b

.W‘de.}.)b ol aieine .))‘3.@ )l N 9 IR (0 ol |) b5 &Y mode. axisy £99 Cowd Lol 9

& "WD” atky iged las a2 oo |y B oy 3L 0o Ak JuSia g ok ke S0uS Ay Ceond 93 ol
31028 Lt ssb 42 35485 53 a30 Ceond 5145 ol 53 p3d Ll (23998 D S (555 2 rivgd slimo
el e o S (555 2 g 5 Gl sl a3 TTHT Jlho (lgis 4 o9k o 48,5 a3 53 () (ke & 58
sl SlelosST &1 dms b ures 50315 pawaid |y FILE £33 31 ykinb 5 (sl 39 alibl [l « fopen o
188 o 5 1 ol ar 65 sl 5 S (o aldsl (B3 lude |y ol polis (ol s 5b 020 5 L a3l5 aU)
Sldos sl o 31 9 0818 o FILE @ 5 oplisl £ 65 31 pwie S0 @y |y (S50 5 oylisl ol (ylgs oo 0955 1
1S e80 py Jle as L 0,S ookl by kel o udls>

FILE xinputFile;
inputFile = fopen(”letter.txt”, "rt”);

SUFILE a5 S oyl SO 9 08,5 3L (ydils> sl 5 (ko yg0 @ |y letter.txt ple L fopen b (Jlo ¢l 5o
S 2B 53 dised 4 S0 Jle U Glsas 4y el 031> 1,3 inputFile pb 4y s aaie 53 1y ST aS (LIS o

FILE xitemFile;
itemFile = fopen (”C:\\data\\items.dat” 6 "w+b”);

osLinl 908,5 3b (29993 Dygo At ykiigd 5 Hiled sl Ty "Ci\data\items.dat” Luysl 51 L « s ol
.43 o )3 itemFile juixo 4o Iy oI FILE S

b Bl (850 35250 s 4y Do) WS 50 1y LB 9550 Lol WSlss LIS ,2 4 fopen ol asilis oS WS azg
sl 32 b <188 (o 3 1y (Gl + bl a8) NULL Sludio oy 5 Sups 5392 5 b e lai 3550 Sy
TS ds 55 Jle a4y 08,5 (s (o el 3l (s Il (B 005 5 5l oy

FILE xinputFile;

inputFile = fopen(”letter.txt”, "rt”);

if (inputFile = NULL) {
printf(”can’t open, file!\n”);
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exit (1) ;

1 sh (50 523 g |y i byl Cond lus) doliyy Fgoro axd

if (linputFile)

bl s FLYLY
)g)‘JSz)a.g@UQﬂ odlel Lo fclose @Ukwsi Iy QTJ.glg 3,5 Iy aosl> b6 59y b wllos é&ST}IuMg

!

int fclose (FILE xf)

Sl BB i 53 CapBBse yso 53 Sk ooy o 9 8Ly (53959 Blsas 4y ly L s S ojlal e !
e =) el aS sl s3led bl SO EOF L35 (o0 04l S50 EOF Hludo Coddse pds &ijgo 53 9 ¢
100y oo |y 3e& (o 0Ll T ay inputFile jpsio Jawgi a5 Lyl « 13 yormwd Jlio olars du el oo

fclose (inputFile);
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5900 a5l (ol i b s (oo Jluoyl o e xSy yob 4y cais 8L a5 olSi s ((UiS an 0
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int fcloseall ();

22T 18,5 (oo 3L 1y EOF luio aiadbon ads 50 53 5 0l dtent slhld 31ud usibgo y50 58 il
Ol 3L lsrome (D SO G an b e S oS jshailod sl 3L 3)50 38 oS o0 o)Ll (T 4 (1 xS
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int fflush (FILE *f)
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fprintf(<file —pointer >,<control—string >, <variable—list >)

)
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#include <stdio.h>
int main() {
FILE xoutFile ;
int i, day, sales;
outFile = fopen(”sales.txt”, "wt”);
if (loutFile) {
printf(”can’t open, file!”);
return —1;
}
printf(”enter number of days :.,”);
scanf ("%d” , &day);
for (i=0; i<day; i++) {
printf(”enter daily sales,(day %d) :.”, i
+1);
scanf ("%d”, &sales) ;
fprintf(outFile, "%d\n”, sales);
¥

fclose (outFile);
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fscanf(<file —pointer >,<control—string >, <variable—address
—list >);
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#include <stdio.h>
void main() {
FILE xinFile ;
int sales, counter=0 ;
float average = 0.0;
inFile = fopen(”sales.txt”, "rt”);
if (!inFile) {
printf(”can’t open, file!”);
return ;
}
fscanf (inFile , "%d”,&sales) ;
while (! feof(inFile) ) {
average += sales ;
counter -4+
fscanf(inFile , "%d”,&sales) ;
¥
fclose (inFile);
average /= counter ;
printf(”average = %f” ,average);
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int feof (FILE xf);
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size_t fwrite(void xdata, size_ t size, size_t n, FILE
xf);
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#include <stdio.h>
void main() {
FILE xoutFile ;
int i, day, sales ;
outFile = fopen(”sales.dat”, "wb”);
if (loutFile) {
printf(”can’t open, file!”);
return ;
}
printf(”enter number, of days :,”);

scanf ("%d”, &day);

for (i=0; i<day; i++) {
printf(”enter  daily sales  (day %d):.”, i
+1);
scanf ("%d”, &sales) ;
fwrite(&sales , sizeof(int), 1, outFile);
}

fclose (outFile);
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size_t fread(void xdata, size t size, size t n, FILE x
£);
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#include <stdio.h>
void main () {
FILE xinFile ;
int sales, counter=0 ;
float average = 0.0;
inFile = fopen(”sales.dat”, ”rb”);
if (linFile) {
printf(”can’t open,file!”);
return ;
¥
fread(&sales , sizeof(int), 1, inFile) ;
while (! feof(inFile) ) {
average += sales ;
counter —++4;
fread (&sales, sizeof(int), 1, inFile) ;
¥
fclose (inFile);
average /= counter ;
printf(”average = %f” ,average);

BB 9> 9 60555 @l mle  ATLY

sl fputs g fgets mlsi . W)ls 3525 Ll 15 29,5 b 53955 Sl 50 650 @lsi o atsS wlsi 52 @
1wl 3 IS fgets pb el . Wigy (o 510 L 5o b axiy gl 9 Guile>

charx fgets(char string[], int n, FILE *f);
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int fputs(char string|[], FILE xf);
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int fgetc (FILE xf);
int fputc(int ¢, FILE =f);
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int fseek (FILE xf, long int offset, int place);
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#include <stdio.h>
void main() {
FILE xinFile ;
int i, sales, lastDaySales ;
float averageMehr = 0.0;
inFile = fopen(”sales.dat”, "rb”);
if (linFile) {
printf(”can’t open, file!”);
return ;
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}
fseek (inFile, 186 x sizeof(int), SEEK SET);
for (i=0; i<30; i++) {
fread (&sales , sizeof(int), 1, inFile)
averageMehr 4= sales

}
averageMehr /= 30 ;

fseek (inFile , —1L % sizeof (int), SEEK END) ;
fread(&lastDaySales , sizeof(int), 1, inFile) ;
printf(”average = %f\n” ,averageMehr) ;
printf(”last day,sales = %d”,lastDaySales)
fclose (inFile);

)

}
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#include <stdio.h>
void main () {
FILE xupdateFile ;
int sales ;
updateFile = fopen(”sales.dat”, "r+b”);
if (lupdateFile) {
printf(”can’t open, file!”);
return ;
¥
fread(&sales , sizeof(int), 1,
while (! feof (updateFile) ) {
if (sales < 100) {
sales += 100 ;

updateFile)
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fseek (updateFile , —1L * sizeof (
int), SEEK CUR) ;
fwrite(&sales, sizeof(int), 1,
updateFile) ;
break ;
}

fread(&sales , sizeof(int), 1, updateFile)

)

}

fclose (updateFile) ;

JB 50 ylislus opiogd g uiled> Ve YLY

plosl 05205 ilser 1o el 311y T smarsis B el 53 1y sl el ol oo S50 31 55l 53
Wb gixe Bl el 5o 5Bl el oxingd b (Wl gl el Diglaie olS (35390 9 (e sleble 5o LK
Sl el paseio NolS™ 55 Ao el JJs wuiogs T 50 b g Wilsd o 31 il as yob as 1y )T slas! 5 el 2
508, Ul Mo 39 (asin il lun job 4y pas b yiiigd B 5 0525 Wb (o b by sl e Sy
Coley Wl 55 il SR 53 Alkus (rod -3, U suay 528 5l alold b b b 5 35 Dl lu indy el o
lsd T 51 b adogd 16 5 xS ysb a1y Sl b JS 155 oo cnlpliy 03,8

stu- ol (e B by | ol 9 wéliys L1, 511 soedils (solued Olasin 45 duwshy sl 4ol [iJls
il (o 971 Juso g owe (pl (292851 05lods Jolis gaitily ya wiledbl ums 1,3 dent. txt

#include <stdio.h>
struct student {
long int id;
char name[40] ;
int age;
float average ;
}s
void main() {
student s;
FILE xstudentFile;
int i, n;
studentFile = fopen (”student.txt” ,”wt”);
if (! studentFile) {
printf(”can’t open  file.”);
return ;

}

printf(”please enter number of students:. ”);
scanf ("%d”, &n);
for (i=0; i<n; i++) {
printf(”student %d: enter,id , name, age,
and average: ", i+1);
scanf ("%ld Ys %d Sf”, &s.id, s.name, &s.
age, &s.average);
fprintf(studentFile ,”%ld %s %d ,%5.2f\n” ;s
.id , s.name, s.age, s.average);
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fclose (studentFile);

}
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#include <stdio.h>
struct student {
long int id;
char name[40] ;
int age;
float average ;
o
void main() {
student s;
FILE xstudentFile;
int i, n;
studentFile = fopen(”student.dat”,”wb”);
if (! studentFile) {
printf(”can’t open, file.”);
return ;

}

printf(”please enter student number : ”);
scanf ("%d”, &n);
for (i=0; i<n; i++) {
printf(”student %d: enter, id , name, age,
andaverage: 7, i+1);
scanf ("%1d %s %d %f”, &s.id, s.name, &s.
age, &s.average);
fwrite(&s, sizeof(student), 1,
studentFile) ;

}

fclose (studentFile);

}
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#include <stdio.h>
struct student {
long int id;
char name[40] ;
int age;
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float average ;
e
void main() {
student s;
FILE xstudentFile;
int i;
long int searchld ;
studentFile = fopen(”student.dat”,”r+b”);
if (! studentFile) {
printf(”can’t open  file.”);
return ;

}

printf(”please enter student id :”);
scanf ("%ld”, &searchld);
do
fread(&s, sizeof(student), 1, studentFile) ;
while (!feof(studentFile) && s.id != searchld);
if (feof(studentFile))
printf(”?student not,found!\n”);
else {
printf(”student found!\n”);
printf(”enter new name, age and average,:
L")
scanf ("%s %d %f”, s.name, &s.age, &s.
average ) ;
fseek (studentFile , —1L * sizeof (student),
SEEK CUR) ;
fwrite(&s, sizeof(student), 1,
studentFile) ;

}

fclose (studentFile);
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float data[100];
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outFile = fopen(”data.txt”, "wt”);
for (i=0; i<100; i++)
fprintf (outFile, "%f”, data[i]) ;
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inFile = fopen(”data.txt”, 7rt”);
for (i=0; i<100; i++)
fscanf (inFile , "%f”, &data[i]) ;
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outFile = fopen(”data.dat”, "wb”);
fwrite (data, sizeof(float), 100, outFile);
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inFile = fopen(”data.dat”, "rb”);
fread (data, sizeof(float), 100, inFile);
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